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[image: image1.jpg]Questions 11through 13 are based on the following passage.
11 A What to do when you are canght n 2 fre.
B. How to help others in 2 fire.
C. When to leave the buming house.
D.Why to call 119 swhen it i on fire,
12. A Because taking the lift i soslow.
B. Because the fire can bum you.
C. Because the lift may keep ou safe
D. Because the it may not work
13. A Fesl whether the door is cool before opening it
B. Keep down close to the floor.
C. Call 120 case of emergency;
D. Skout loudly to remind the others,

Questions 14 through 16 are based on the following passage.
14.A. The woman will be punished.
B. They wil become fiends.
C. The man will be punished
D. They will be kusband and wite.
15. A, Romanic. B. Clever. C. Friendly.
16.A.To please bim
B. Tomake the police blieve he had broken the traffc nile.
. To make fum of him.

D. To celebrate the chance God gave them.

Section € (84)

D. Humorous.

Directions: In section C, you will hear two longer conversations. The conversations will be read
tvice. After you hear each conversation, you are required to fill in the mumbered bleks with the
information you have heard. Write your answers onyour ansiwer sheet.

Blanks 17 through 20 are based on the following conversation.

Sending a Parcel
Destiation U Awmla
Weight 18 gems

y By 19 aregstered parcdl
Postage )

Complete the form. Vite ONE WORD for each augy
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[image: image2.jpg]Blanks 21 through 24 are based on the following conversation.

%

‘What was the man's last job? He workedas__21__ at Computer Country

‘What was the most difficult part of hisjob? | 22

How long did the man work for the company? | Nearly 23

‘Why was the man interested in the new job? | Because the company has a great reputation and
24

Complete the form. Write NO MORE THAN WORDS for each answer. ]

IL Grammar and Vocabulary
SectionA (16 53)

Directions: After reading the passages below, il in the blais to make the passages coherent and
‘grammatically correct. For the blaris with a given word, fllin each blank with the proper form of
the given word; for the other blaris, use one word that best its each blank

@
English is (25) (widely) used language in the history of our planet. One in every
seven human beings (26) speak it. More than half of the world's books and three quarters

of international mail are in English. Of all languages, English has the largest vocabulary — perhaps

‘as many as two million words.
However, let's face it: English is a crazy language. There is no egg in (27)
eggplant, neither pine nor apple in 2 pineapple and no ham in 2 hamburger. Sweet-meats are candy,

while sweetbreads, (28) aren’t sweet, aremeat
‘We take English (29) granted. But when we explore its paradoxes (&), we find

that quicksand can work slowly, boxing rings are square, public bathrooms have no baths in them
And why is it (30) a writer writes, but fingers don't fing. grocers don't groce, and

‘hammers don’t ham? If the plural of tooth is teeth, shouldn 't the plural of booth be beeth?

‘How can a slim chance and a fat chance be the same, while a wise man and a wise guy are
opposites? How can overlook and oversee be opposites, while quite a lot and quite a few are alike?
How can the weather be hot as hell one day and cold as hell the next?

So far English, (31) (invent) by people not computers, (32) (reflect) the
creativity of human beings.

[}

The (33) (1ing) bell indicated the end of the last class on Friday afternoon. Students
swarmed out of the classrooms and headed back to their dormitories. Only Xiao Di headed to
another classroom. “Go ahead and have dinner. Don’t wait for me.” the 20-year-old told her friends.
“Ihave to get toa good seat for my minor subject.”

Like Xizo, many students are signing up for minor subjects in their spare time. (34)
the reasons are different, they all believe that taking a minor subject is a rewarding experience.

Li Keren, 22, is a senior who (35) (involve) in finance at Tianjin University of
Finance & Economics now. He enrolled in international finance as his minor subject and managed
0 stay on top in (36) of his major and nfalaGhsiEE. corm.crizhongkaosnglish




 

[image: image3.jpg]“Different from most students, 1 pay equal attention to my major and minor subject,” he says.
He thinks that students have signed up for minor subjects (37) they have the energy and
time to do so. The disadvantage of (38) (pay) s attention to a minor subject, according
toLi, is (39) students may not get a comprehensive understanding of the subject

Therefore, what students should do is (40) (devote) the same energy and time to
their major subject as before, while sacrificing their spare time to work on their minor subject
“Considering your future, it'sa worthwhile effort” he says.

Section B (104"
Directions: Complete the following passage by using the words in the box. Each word can only be
used once. Note that there is one word more than you need.

A competitors B. philosophy C. properly  D.maximize E. enthusiastic
F.candidate  G.mimors  H backgrownd T extremely I conducted K cultural

When asked about one interview candidate who impressed her most, Christine, an HR
‘manager at an investment company cited an example of a(n) _41 _ who had prepared well. “He
seemed very prepared to work for our company during the interview. He _ 42 good research on
the company’s core business and also the industry in general” she said.

‘This suggests that HR managers expect candidates to do their homework _ 43, but how?
Here are some tipsto __44_ your chances of getting 2 job.

Search the Web and research the __ 45 of the company and the people who you think are
‘going to be interviewing you. Lear exactly what it is that they do and how you would fit in with
the company. Most importantly, try to understand the “culture” of the company, which is to say its
underlying _ 46 _; the HR departments often state missions and give _ 47 _ statements. You
need to communicate in away that _48 _ their company standards; this will show that you can
fitin that organization. Understand a little of what their _49 _ are doing. This will show that
‘you've bothered to find out where their position in the market is

Just as important is your own personal preparation. Think about the key things you want to
communicate and why you would be ideal for the job. Think about how you can sound __50
‘without sounding desperate —how you can sell yourself

Generally, wear 2 suit (and lso a tie for guys), but the dress code depends on the job you are
‘going for. When you study the company culture, check what is expected in this area lso.

TIL Reading Comprehension
Sectiond (1543
Directions: For cach blank in the following passage there are four words or phrases marked 4, B,
CandD. Fil in each blankwith the word or phrase that best its the context.

Kodak's decision to file for bankruptcy (B7=) protection is a sad, though not unexpected.
turming point for a leading American corporatiortiluse sinEl oo rrrusskioylaoznglizh




 

[image: image4.jpg]dominated the film market for decades, but finally failed to adapt to the digital revolution.

Although many people owe Kodak's downfall to “complacency ()", that __52__ tumsto
2 blind eye to the long time which the company spent in reinventing itself. Decades ago, Kodak
foresaw that digital photography would unavoidably _ 53 _ film — and in fact, Kodak invented
the first digital camera in 1975 — butina __ 54 _ decision, the company chose to
new discovery and went on focusing on its traditional film business.

Ttwasn't that Kodak was _ 56 to the future, but rather that it failed to carry out a strategy
to face it, said Rebecca Henderson, a professor at Harvard Business School. By the time the
company realizedits __57_, itwas toolate.

Kodak is an example of a firm that was very much aware that they had to adapt, and spent &
Iot of money trying to do so, but __58 _ failed. Large companies have a difficult time _50
into new markets because they always attempt to put existing assets (¥ 7= ) into the new
businesses.

Although Kodzk predicted the __60__ ise of digital photography, its corporate ( 1 #9)

culture wastoo __61 _ the successes of the past. Therefore, it is impossible for them to make the
clean break, which is necessary to fully embrace the future. They were a company stuck in time.
‘Their history was so important to them. Now their history has become a burden.

Kodak's downfall over the last several decades was _ 62 Tn 1976, its products __ 63
90% of the market for photographic film and 85% of the market for cameras. But the 19805
broughtnew __ 64 _ from Japanese film company Fuji Photo, which defeated Kodak by offering
Tower prices for film and photo supplies. Kodak's __65 _ not to pursue the role of official film for
the 1984 Los Angeles Olympics was a major miscalculation. The golden chance went to Fuji

instead, which exploited its sponsoship to win a permanent foothold in the marketplace.

its

51.A. prepared B. preferred C. pioneered D. promised
52. A result B. explanation C. purpose D. measure
53.A charge B. overcome C.replace D. resist
54 A fruitful B. fateful C. useful D. hopeful

share B. show C. shift D. shelf
56. A sensitive B. blind C. accessible D. resistant
57.A. mistake B. decision C.fear D. concept
58 A eventually B. necessarily C. flexibly D. naturally
50.A switching B. looking C.falling D. plunging
60. A. critical B. reasonzble C. inevitable D. essential
61.A related to B. concemed about  C. involved in D. trapped in
62. A common B. average C. regular D. dramatic
63.A decidedon B contributedto C. accounted for D. benefited from
64 A chance B. competition C. hope D. means
65. A decision B.effort C.regret D. access

SectionB (24 4}) blog.sina.corn.crizhongkaosngli



 

[image: image5.jpg]Directions: Read the following three passages. Each passage is Followed by several questions or
unfinished statements. For each of them there are four choices marked 4, B, C and D. Choose the
one that its best according to the information gtven inthe passage you have just read.

@

Want a glimpse of the future of health care? Take a look at the way the various nefworks of
people involved in patient care are being connected to one another, and how this new comnectivity
is being exploited to deliver medicine to the patient —no matter where he or she may be.

Online doctors offering advice based on standardized symptoms are the most obvious
examples. Increasingly, however, remote diagnosis (telemedicing) will be based on real
physiological data from the actual patient. A group from the University of Kentucky has shown that
by using an off-the-shelf (3L if; #71) PDA (personal data assistance) such as a Paim Pilot plus a
mobile phone, itis perfectly feasible to transmit a patient’s vital signs over the telephone. With this
kind of equipment in a first-aid kit (35U, the cry asking whether there was a doctor in the
house could well be a thing of the past.

Other medical technology groups are working on applying telemedicine to rural care. And at
least one team wants to use telemedicine a5 a tool for disaster response — especially after
earthquakes. Overall, the trend is towards providing global access to medical data and expertise.

But there is one problem. Bandwidth (3 /%) i the limiting factor for transmilting complex
medical images around the world — CT scans being one of the biggest bandwidth consumers.
Communications satellites may be able to cope with the short-term needs during disasters such as
earthquakes, wars or famines. But medicine s looking towards both the second-generation Intemet
and third-generation mobile phones for the futre of istributed medical intelligence.

Doctors have met to discuss computer-based tools for medical diagnosis, training and
telemedicine. Wit the falling price of broadband communications, the new technologies should
usher in (¥A3%) an era when telemedicine and the sharing of medical information, expert opinion
and diagnosis are common.

6. The basis of remote diagnosis will be
A personal data assistance B. standardized symptoms of a patient
C. real physiological data froma patient . transmitted complex medical images
67. The sentence “the cry asking whether there was a doctor in the house could well be a thing of
the past” means
A patients used to cry and ask if there was a doctor in the house
B. now people probably will not ask if there is 2 doctor in the house
C. patients are now still asking if there is 2 doctor inthe house
D. in the past people often cried and asked if there was a doctor in the house
68. The word “problem” inthe fourth paragraph refers o the fact that
A.CT scans are one of the biggest bandwidth consumers
B. there are not enough mobile phones for distributing medical inelligence
C. communications satelites can only cope with the short-term needs during disasters
D. bandswidth is not adequate to transmit complex medical images around the world
60. A proper title for the passage may be blyg.sinz.corn.crizhongkaosnglish




 

[image: image6.jpg]A The Online Doctor Is in B. Improvement in Communication

C. How to Mzke Remote Diagnosis D. Application of Telemedicine
®
AirEast FlightNO.  Date ‘Allowance
From: Hong Kong AE172 20Dec 30kg
To: Tokyo AE382  28Dec 30kg
‘To: Hong Kong AE300

Ticket valid () for 1 year from date of issue.

Conditions

(1) The company will do its best to carry the passenger and luggage at the times advertised
‘Timetables may, however, change suddenly and flights be cancelled.

(2) Passengers who arrive late and miss their flights wil have to buy new tickets.

(3) Any damage to luggage must be reported in writing within seven days.

(4) Ifpassengers carry more luggage than they are allowed, they must pay extra

(5) Passengers must have with them all the necessary official papers

(6) Passengers must pay their own airporttax.

(7) Passengers may carry a small bag with them on to the plane. Tt must not weigh more than 7kg.
Tt must be put in an overhead locker o on the floor under the seat in front of the passenger

(8) Passengers may not carry any sharp objects on to the aeroplane

(9) Dangerous objects may not be put in luggage. Acids, things which catch fire easily and poisons
are not allowed.

(10) Passengers must do as the captain orders them

(11) No smoking is allowed anywhere on the aeroplane.

(12) Mobile phones and similar pieces of equipment must be switched off

70. Which of these actions is not against the conditions?

A Forgetting your passport B. Smoking in the toilets.

C. Carrying a mobile phone. D Having a pair of scissors in your hand luggage.
71. According to the passage, which statement is NOT TRUE?

A You can change the dates of ravel during 2 twelve-month period.

B. The airline must accept responsibility if a flight does not happen.

C. The cost of the ticket does not include irport tax.

D. The captain has full authority on his plane
72. How much luggage may the passenger take free of charge on this ticket?

A30kg B.3Tkg.
C.60kg. D.67kg.
(@log.sina.com.cn/zhongkaosnglish




 

[image: image7.jpg]Scientists have long believed one way to stop the Earth's atmosphere from warming is by
planting more trees. The idea is that more trees wil take in or absotb some of the carbon dioxide in
the atmosphere. Carbon dioxide is a gas released by cars, factories and other human activities. The
gas traps heat in the Earth’s atmosphere, which warms the planet. However, two new studies have
found that trees may not be as helpful in reducing carbon dioxide as thought.

‘The first study was done at Duke University in Durham, North Carolina. Researchers pumped
extra carbon dioxide into a test area where pine trees were growing. The trees grew thirty-four
percent faster during the first three years. However, in time, the trees slowed to about their normal
‘growth rate. The scientists say this is because trees need other mutrients, such as nitrogen.

In the second study, researchers from Duke and Bowdoin College in Brunswick, Maine
examined the soil around trees. They discovered that as the leaves broke down into the soil, all the
carbon was not trapped in the soil. Much of it was released into the atmosphere as carbon
dioide

‘The findings of the two studies were published last month in Nature magazine. They suggest
there is limited value in planting trees to reduce the carbon dioxide pollution in the atmosphere.

Forest planting has been a part of negotiations on 2 world agreement to reduce greenhouse
gases that scientists believe cause global warming. The United States, Canada, Japan and some
other industrial countries have supported the idea. But this new research suggests the idea is not as
effective as environmental activists had thought. Scientist Ram Oren of Duke University led the
study on tree growth He says that earlier estimates on the ability of forests to absorb carbon
dioxide were overly hopeful

Some scientists not involved in the studies say the research provides some of the first evidence
on how trees react to carbon dioxide. Other scientists say the research disputes a belief among
some coal and power companies. The companies say that more carbon dioxide in the atmosphere
will not create harmful global warming. Instead, they say it will increase forests and other plants

73. What is the purpose of this passage?
A Introduce some new ideas about the relationship between trees and carbon dioxide.
B. Introduce recent condition of global industrial pollution.
C. Call on people to plant more trees to reduce greenhouse gases.
D. Point out that power companies should be responsible for the rising levels of carbon dioxide.
74. Why did the researchers put trees in extra carbon dioxide in the first study?
A To learn whether trees can still absorb carbon dioxide under extreme conditions.
B. To get more oxygen from these trees.
C. To evaluate the maximum carbon dioxide that trees can absorb.
D. To see the effect of carbon dioxide on the growth rate of these trees.
75. What happened to the leaves falling from the trees in the second study?
A They broke down and the main parts turned into oxygen.
B. They broke down and the carbon content had mainly turned into carbon dioxide.
C. They broke down and the carbon content was mainly absorbed in the soil.
D. They absorbed more carbon dioxide.
76. Scientist Ram Oren thinks that common belitfyéflinfey sy v flosbro efafion djipriy bt



 

[image: image8.jpg]A appropriate B. pessimistic C.over-optimistic . convincing
77. The word “dispute” (Line 2, Para.6) probably refersto
A question B. support C. maintain D. accept

SectionC  (843)
Directions: Read the passage carefully. Then answer the questions or complete the statements in
the fewest possible words.

Anattomey is an agent authorized to act for a person or concern. An attomey at law, or lawyer,
is an officer of 2 court of Iaw who acts as an agent in legal proceedings. This means that lawyers
must serve two masters. One master is the client. Lawyers use the law and the legal system to
protect and serve the needs of clients. The other master is the law itself. Lawyers must uphold the
1aw, which is based on the U.S. Constitution, written legislation, and past court decisions.

Almost all aspiring lawyers attend a law school approved by the bar association of the state in
‘which they want to practice. A bar association is 2 professional group for lawyers. The term bar is
taken from the historic structure of 2 courtroom. A lawyer who has “passed the bar” could step
‘beyond the bar o railing that separated members of the public from those involved in proceedings.
Each state offers its own bar examination. Some states recognize attomeys qualified elsewhere, but
moststates require attomeys to pass that state’s bar exam before they can practice there.

‘The Law is extremely complex and changes constantly 2s new legislation is issued and new
interpretations win favorable rulings in the courts. Every aspect of life, from artistic production and
sports to taxes, is a specialty area n law. Tvwo specialties are corporate law and criminal law.

A corporate attomey handes legal matters for businesses. Much of this work involves affzirs
such as employment contracts, arrangements for loans, rental agreements, and joints with other
companies. Sometimes businesses must appear in court, in which case they need a corporate
attorney who is also a litigator (2 fi1ff ¥t A). Litigation is a conflict that is taken to court. A
Iitigator files the lawsuit and helps the client resolve the conflict, either by negotiating a settlement
or by presenting arguments in court.

(Note: Answer the questions or complete the statements in NO MORE THAN TEN WORDS.)

78. The two masters lawyers must serve are
79 What is the function of the bar or railing?

80. With constant changing of the law, is aspecalty area inlaw
81. How can a corporate attorney help the client to settle the problem?

blogksirreoronizhongkaosrglis
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L Translation (22 4})
Directions: Translate the following sentences into English, using the words given inthe brackets

i85 NPEESHTRELR . (scem)

2 s e (adiust)

3. EAERREFITE, BSHIPRRIVEES SR, (related)

4. PHELRH TRETAIHTE, MABRRaEARAEREBOAZE LR=RMA.
(Only)

5. BREE hazefif MNEREEERRATE, B2 ERH LTS EHARAE
KIRT{THpi%.  (Despite)

1L Guided writing (25 ")
Directions: Write an English composition in 120-150 words according to the instructions given in
Chinese.

EIRRBS T AT S RESN, kS S
BTN P4 IS . blogy

ENEIERLAR I AR 1S
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